ZIEADE BIENX & ZRADFER2

B2 HEADTE

NO.2 BE 12 =
¢  ROXZEFEZELAIL,
(M (5 x — y) x x

2) (3 a + b ) X 7 a

B (4 a + 2 b ) X (—7Db)

4 (4 p — 11 ¢ ) X (=7 a)

5) 7 x ( x + 6 vy )

6) 2 a ( a —9 b))

(7) — 5 x (3 x + 2 vy )

(8) — 11 x (3 x — 2 vy )

@9 ( 4 x — 13 x5y + 6) X 2 «x

(10) ( 3 a — 6 a b - c) X (-7 b )

(11) 9 x (4 x + 2y + 3 )

mz2)y - 7 x (2 x — 5y + 9z )
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M 5 x 2 - xy

(2) 21 a 2 + 7 ab

(3 — 28 ab — 14 b 2
(4) — 28 ap + 77 aq
(5) 7 x 2 + 42 xy

6) 2 a 2 — 18 «dab

7 = 15 x 2 — 10 x

8) — 33 x 2 + 22 x

9) 8 x 2 — 26 x 2y + 12 «x

(10) — 21 @ b + 4 a b2+ 7 b c

(1 36 x 2 + 18 Xy + 27

(12) - 14 x 2 + 35 xy — 63 x =
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